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I ’® mwn: more problematic 0113 vis-a-vis nMIN N29R and nMIN NYIRN
a RNV DY
i They may not eat
ii ~ Their wives and slaves may eat
b ®>7 e and noow mMId
i they may eat, as well as their slaves
ii  their wives may not eat unless they haven’t had relations since becoming %108
II 12 mwn: definition of N2ow N2 R2T YIvD
a  RIT Y9 - if even one testicle was smashed
b 1w mMd - if the membrum is cut off; if even the smallest part of the corona is attached, not n2ow 1>
III  ®™’s derivation that % is banned from nmn
a  v.1uv. 3 (12w 2vIn); just as 91y is banned from noa (as per v. 2), similarly for nmn
i (™ v.4—wR wRexpands to include 51p)
b must be mam (superfluous) since otherwise we could challenge analogy:
i noais more severe, as it involves the potential problems of xnvy MM 518
ii 5wy avinin v. 3 are not superfluous — both are needed (if only 2wn was written, X”10 it means a 6-year
T2Y; but an Y¥71 71y eats)

iii 2wy avIninv. 1 are extra — since an »2y 71y doesn’t belong to his master (as evidenced by nmyn) so he’s
noa1 a”n

1 Challenge: X" maintains that Tnx T¥n Mo may be inferred but challenged
2 Answer: since both 2vin and 15w are extra, one can be “assigned” to N IN->Mam on both sides
¢ Challenge: if so, just as noa is prohibited to (7ar) 18, similarly nnyIn (which is not true)
i Answer: 7in v. 3 is exclusive — only mt and not myix
ii ~ Challenge: why not use exclusive term to box out m%1?
iii  Answer: 172w 2vn sets up analogy between noa:nmIn
iv  Challenge: why accept analogy for m>7y and exclusion for mix
1 Answer #1: M7y has more unique components (72yn 9272 ©'MI2 DWYN) than MrIr (anytime, anyone,
out of his control to repair)
2 Answer #2 (827): without “overbalance”, prefer m>y; it’s explicit in re noa; (MR re noa from V"Yn)
d  Challenge: why not infer that n%n of his sons and slaves bars him from nmn n5R as in case of noa?
i Answer:ya 738 ™R IMR AnYm is exclusive to nos
ii  Challenge: why not read exclusivity for his own m%y?
iii Answer #1: his own m?%1 has more significant components (1911 ,n72)
iv  Answer #2: without “overbalance”, unreasonable that m»7y wouldn’t matter but 1721 v721 n%n would
e  Tangential applications: now that 11 is used exclusively in context of a”p..
i Application #1: what does 12 38> 8Y 7121 12 93 exclude?
1 Answer: 7wyn — apostasy doesn’t bar from eating w"yn
ii  Application #2: what does 12 %38’ 8Y %7 Y3 exclude?
1 Answer: n¥n — the Y is still .m0 n¥na 270
iii ~ #m277x both 57y and 121 12 need to be explicitly banned from a”p
1 weak points: 991 12 isn’t physically disfigured; 57 isn’t spiritually self-disenfranchised
f  tangential application #2: an x3 (v. 5) — derivations as per pnx’ "1 (74a)
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IV Analyzing y™’s derivation
a  WR WK extends to m»y
b challenge: why not extend it to manx?
i Answer:7tin v. 3 is exclusive — only m1r and not mix
ii ~ Challenge: why not use exclusive term to box out m%1?
iii  Answer: WR VR extends to m»y
iv  Challenge: why accept analogy for m>7y and exclusion for mix
1 Answer #1: M7y has more unique components (72yn 9272 B'MI2 DWYN) than MrIr (anytime, anyone,
out of his control to repair)
2 Answer #2 (837): without “overbalance”, prefer m>1y; source is w& wx; identify something (m57y)
which only applies to an vX (and not an nWR)
¢ Question: What does "1 do with 99wy 2vin (in nmn)?
i Possibility #1: to include circumcised non-Jews in the ban from noa
1 Challenge: non-Jews are inherently called 0’1y, as per 83 DM
2 Rather: to include:
(@) 920 8% HYnw 7 (®™ considers him a full 73 and wouldn’t be excluded, contra y™)
(b) 910 7YV JYp — ¥ maintains that he must have n1a o7 navn (8" disagrees)
d  Parallel Question: What does 8" do with w& wR?
i Answer: DR %1 WY NN 71a7 (i.e. the NN is written in “normal” language and WX WX is simple a
linguistic idiom, should not be understood as an expansive phrase)
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